e, =—2M—T3, Topo =2 =215, fg =—1 —5r, =3,

lco, = 4r, +2r5, Mo = 4r, +2r5,

E 120 kJ mol® ke 5.37x 10" s™

I | Ry

Cag(-ry) [min]

0.0 0.2 0.4 0.6 0.8 1.0
Xa [-1

D (1100 mol m*®  (2)150 mol m”®  (3)250 mol m?

L]
0 o -tr ken  k 0.101 min®

@) -ra kea  k 0.140 min™

3) -ra  Kca? k 1.00x 10°m*® mol* min™
[] 0.0694 m* min®  (2)0.440 m*  (3)1776 mol m~
[] (200 300 400 500

2.63x 10°m* mol®™ min* 1.333x 10°m’ mol® min™

6.07x 10°m° mol™ min* 2.543x 10°m’ mol®* min™

@) 120 kJ mol™

7.23x 10 m° mol* min™

[ ] (b)o667  (c)0.865  (d)0.750
D (1)60.7 mol m?* (v 0.01158 m* min* v 0.0210 m®
1 o (2)x« 0.625 k 0.0980 min™
[ ] 300 350 400

2.56x 10°m® kg*' s* 7.18x 10°m’ kg* s’ 1.764x 10° m’
]
]

A 600 mol m? B 300 mol m?® R 600 mol

min-

kg' s

m-

3



] 304 kg

Fro 0.347 mol s™
[] o486  (2)0.393



